

# The deformation retract of the complex projective space and its topological folding

M. EL-GHOUL

Mathematics Department, Faculty of Science, Tanta University, Tanta, Egypt

The deformation retract of the complex projective space into itself and also after the isometric and topological folding was studied and discussed. Theorems concerning these deformation retracts are deduced.

## 1. Introduction

It is known that the real projective  $n$ -space,  $p^n$ , as the quotient space of the  $n$ -sphere,  $s^n$ , obtained by identifying antipodal points,  $p^n$ , is a compact connected  $n$ -dimensional manifold. The complex projective  $n$ -space  $cp^n$ , is a compact connected  $2n$ -dimensional manifold: in complex  $(n + 1)$ -space,  $c^{n+1}$ , consider the subspace defined by  $|z| = 1$  where if  $z = (z_0, z_1, \dots, z_n)$ , we define  $|z|^2 = |z_0|^2 + |z_1|^2 + \dots + |z_n|^2$ ; this space is just  $s^{2n+1}$ . We identify  $z, z'$  on  $s^{2n+1}$  if  $z' = cz$ , where  $c$  is a complex number of absolute value 1; the resulting quotient space is called  $cp^n$ , the fibres of the map  $f: s^{2n+1} \rightarrow cp^n$  are circles [1-4].

A map  $F: M \rightarrow N$ , where  $M, N$  are  $C^\infty$  Riemannian manifolds of dimensions  $m, n$ , respectively, is said to be an isometric folding of  $M$  into  $N$ , if and only if for any piecewise geodesic path  $\gamma: J \rightarrow M$ , the induced path  $F \circ \gamma: J \rightarrow N$  is a piecewise geodesic and of the same length as  $\gamma$ ,  $J = [0, 1]$ . If  $F$  does not preserve length, then  $F$  is a topological folding [5, 6]. By using the Lagrangian equations

$$\frac{d}{ds} \left( \frac{\partial T}{\partial \dot{\Psi}_i'} \right) - \frac{\partial T}{\partial \Psi_i} = 0 \quad i = 1, 2, \dots, 2n + 1. \quad (1)$$

we determined a geodesic  $s^{2n} \subset s^{2n+1}$  [7] which is the deformation retract of  $\{s^{2n+1} - p_i\}$ . Also by the above equation we obtain  $s^{2n-1} \subset s^{2n}$  which is geodesic and it is the deformation retract of  $\{s^{2n} - p_i\}$ ,  $p_i$  is any antipodal points. Consequently,  $cp^{n-1} \subset cp^n$ ,  $cp^{n-1}$  is the deformation retract of  $\{cp^n - p_i\}$ ,  $p_i \in cp^n$ . In this paper we discuss the relation between the deformation retract of  $\{cp^n - p_i\}$  and the deformation retract of the isometric and topological folding of  $\{cp^n - p_i\}$  [8-11].

A subset  $A$  of a topological space  $M$  is a deformation retract of  $M$  if there exists a retraction  $R: M \rightarrow A$  and a homotopy  $f: M \times I \rightarrow M$  such that [12]

$$f(x, 0) = x \quad \left. \vphantom{f(x, 0) = x} \right\} x \in M \quad (2a)$$

$$f(x, 1) = R(x) \quad (2b)$$

$$f(a, t) = a, a \in A \quad \text{and} \quad t \in I = [0, 1] \quad (2c)$$

## 2. The main results

Let  $s^{2n+1}$  be the sphere  $x_1^2 + x_2^2 + \dots + x_{2n+2}^2 = 1$ ; the parametric equation of this sphere is

$$r = \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1} \right) \quad i = 3, 4, 5, \dots, 2n + 1 \quad (3)$$

For any point  $\alpha \in cp^n$ , then  $\alpha = \{(z; z') : z, z' \in s^{2n+1} \text{ such that } z = cz', |c| = 1\}$ . If we take  $c = e^{i\pi}$  hence,  $(z_0, z_1, \dots, z_n) \in cp^n$  or  $(x_1, x_2, \dots, x_{2n+2}; -x_1, -x_2, \dots, -x_{2n+2}) \in cp^n$ . Consider the parametric from

$$\alpha = \left[ \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1} \right); e^{i\pi} \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1} \right) \right] =: [\beta; -\beta]. \quad (4)$$

From the equations  $ds^2 = (\sum_{j=1}^{2n+2} dx_j^2; -\sum_{j=1}^{2n+2} dx_j^2)$  and  $T = \frac{1}{2} ds^2$ , we have

$$T = \frac{1}{2} \left[ \left( \prod_{i=2}^{2n+1} \sin^2 \psi_i \psi_1'^2 + \prod_{i=3}^{2n+1} \sin^2 \psi_i \psi_2'^2 + \prod_{i=4}^{2n+1} \sin^2 \psi_i \psi_3'^2 + \prod_{i=5}^{2n+1} \sin^2 \psi_i \psi_4'^2 + \prod_{i=6}^{2n+1} \sin^2 \psi_i \psi_5'^2 + \dots + \sin^2 \psi_{2n+1} \psi_{2n}'^2 + \psi_{2n+1}'^2 \right); - \left( \prod_{i=2}^{2n+1} \sin^2 \psi_i \psi_1'^2 + \prod_{i=3}^{2n+1} \sin^2 \psi_i \psi_2'^2 + \prod_{i=4}^{2n+1} \sin^2 \psi_i \psi_3'^2 + \dots \right) \right]$$

$$\begin{aligned} & \times \sin^2 \psi_i \psi_3'^2 + \prod_{i=5}^{2n+1} \sin^2 \psi_i \psi_4'^2 + \prod_{i=6}^{2n+1} \sin^2 \psi_i \psi_5'^2 \\ & + \dots + \sin^2 \psi_{2n+1} \psi_{2n}'^2 + \psi_{2n+1}'^2 \Big] \end{aligned} \quad (5)$$

The Lagrangian equations for  $cp^n$  are

$$\frac{d}{ds} \left( \frac{\partial T}{\partial \psi_e'} \right) - \frac{\partial T}{\partial \psi_e} = 0 \quad e = 1, 2, 3, \dots, 2n+1 \quad (6)$$

$$\frac{d}{ds} \left( \prod_{i=2}^{2n+1} \sin^2 \psi_i \psi_1' \right) = 0 \quad (7)$$

$$\begin{aligned} & \frac{d}{ds} \left( \prod_{i=3}^{2n+1} \sin^2 \psi_i \psi_2' \right) \\ & - \sin \psi_2 \cos \psi_2 \prod_{i=3}^{2n+1} \sin^2 \psi_i \psi_1'^2 = 0 \end{aligned} \quad (8)$$

$$\begin{aligned} & \frac{d}{ds} \left( \prod_{i=4}^{2n+1} \sin^2 \psi_i \psi_3' \right) - \left( \sin \psi_3 \cos \psi_3 \prod_{i=4}^{2n+1} \sin^2 \psi_i \psi_2'^2 \right. \\ & \left. + \sin \psi_3 \cos \psi_3 \sin^2 \psi_2 \prod_{i=4}^{2n+1} \sin^2 \psi_i \psi_1'^2 \right) = 0 \end{aligned} \quad (9)$$

$\vdots$

$$\begin{aligned} & \frac{d}{ds} \left( \psi_{2n+1}'^2 \right) - \left[ \sin \psi_{2n+1} \cos \psi_{2n+1} \left( \psi_{2n}'^2 \right. \right. \\ & \left. \left. + \sin^2 \psi_{2n} \psi_{2n-1}'^2 + \sum_{l=2}^{2n-1} \prod_{k=1}^l \right. \right. \\ & \left. \left. \times \sin^2 \psi_{2n+1-k} \psi_{2n+1-(l+1)}'^2 \right) \right] \dots (2n+1) \end{aligned}$$

From Equation 7 then

$$\begin{aligned} & \frac{d}{ds} \left( \prod_{i=2}^{2n+1} \sin^2 \psi_i \psi_1' \right) = 0, \text{ or } \prod_{i=2}^{2n+1} \sin^2 \psi_i \psi_1' \\ & = \text{constant}, \alpha_1: \text{ say.} \end{aligned}$$

If  $\alpha_1 = 0$ , then  $\psi_1' = 0$  [1] or  $\psi_2 = 0$  or  $\pi$ , take  $\psi_1' \neq 0$  and  $\psi_2 = 0$ .

$(x_1, x_2, x_3, \dots, x_{2n+2}; -x_2, \dots, -x_{2n+2})$  in the form

$$\begin{aligned} x_1 &= 0 \\ x_2 &= 0 \\ x_3 &= \cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k \\ &\vdots \\ x_i &= \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \quad i = 4, \dots, 2n+1 \\ &\vdots \\ x_{2n+2} &= \cos \psi_{2n+1} \\ &- x_1 = 0 \\ &- x_2 = 0 \\ &\vdots \\ &- x_{2n+2} = -\cos \psi_{2n+1} \end{aligned} \quad (10)$$

From the system of Equation 10 we obtain

$(0, 0, x_3, \dots, x_{2n+2}; -0, -0, -x_3, \dots, -x_{2n+2})$  which is  $cp^{n-1} \subset cp^n$ ; this represents a geodesic. The deformation retract of  $cp^n$  may be defined by

$$\Phi: (cp^n - \{p_i\}) \times I \rightarrow (cp^n - \{p_i\})$$

where  $cp^n$  is a complex projective space,  $\{p_i\}$  is any point belonging to  $cp^n$ ,  $I = [0,1]$ . The retraction of the complex projective space  $cp^n$  is given by  $R: (cp^n - \{p_i\}) \rightarrow A$ , where  $A$  is given by

$$\begin{aligned} A &= \left( 0, 0, \cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k, \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \right. \\ &\quad \left. \dots, \cos \psi_{2n+2}; -0, -0, -\cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k \right. \\ &\quad \left. \dots, -\cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, -\cos \psi_{2n+2} \right) \\ &= cp^{n-1} \end{aligned} \quad (11)$$

we reach to the following theorem.

*Theorem 1.* The deformation retract of  $\{cp^n - p_i\}$  onto a geodesic  $cp^{n-1} \subset cp^n$  is

$$\begin{aligned} \Phi(m, t) &= \left[ \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \right. \right. \\ &\quad \left. \left. \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1} \right); e^{it} \right. \\ &\quad \times \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \right. \\ &\quad \left. \left. \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1} \right) \right] (1-t) \\ &\quad + t \left( 0, 0, \cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k, \dots, \cos \psi_{i-1} \right. \\ &\quad \times \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1}; -0, -0, \\ &\quad \left. -\cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k, \dots, -\cos \psi_{i-1} \right. \\ &\quad \left. \times \prod_{k=3}^{2n+1} \sin \psi_k, \dots, -\cos \psi_{2n+1} \right) \end{aligned} \quad (12)$$

where

$$\begin{aligned} \phi(m, 0) &= \{\beta, -\beta\}, \Phi(m, 1) = \left( 0, 0, \cos \psi_2 \prod_{k=3}^{2n+1} \right. \\ &\quad \times \sin \psi_k, \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \cos \psi_{2n+1}; \\ &\quad 0, 0, -\cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k, \dots, -\cos \psi_{i-1} \\ &\quad \left. \times \prod_{k=i}^{2n+1} \sin \psi_k, -\cos \psi_{2n+1} \right) \end{aligned} \quad (13)$$

Now, we will discuss the folding of the complex projective space  $cp^n$ :  $\mathcal{F}: cp^n \rightarrow cp^n$  where

$$\begin{aligned} \mathcal{F}(x_1, x_2, \dots, x_{2n+2}; -x_1, -x_2, \dots, -x_{2n+2}) \\ = (|x_1|, |x_2|, \dots, x_{2n+2}; -|x_1|, \\ -|x_2|, \dots, \dots, -x_{2n+2}) \end{aligned} \quad (14)$$

is an isometric folding of  $cp^n$  into itself, whence

$$\begin{aligned} \mathcal{F}: & \left[ \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \cos \psi_{i-1} \right. \right. \\ & \times \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1}; - \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \\ & - \prod_{k=1}^{2n+1} \sin \psi_k, \dots, - \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \\ & \left. \left. - \cos \psi_{2n+1} \right) - \{p_i\} \right] \rightarrow \left[ \left( \left| \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1} \right|, \right. \right. \\ & \left. \left| \prod_{k=1}^{2n+1} \sin \psi_k \right|, \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \right. \\ & \left. \left. \cos \psi_{2n+1} \right); - \left| \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1} \right|, - \left| \prod_{k=1}^{2n+1} \right. \right. \\ & \left. \left. \times \sin \psi_k \right|, \dots, - \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \right. \\ & \left. \left. - \cos \psi_{2n+1} \right) - \{p_i\} \right]. \end{aligned} \quad (15)$$

The deformation retract of  $\mathcal{F}(cp^n - p_i)$  will be defined as

$$\begin{aligned} \Phi_{\mathcal{F}}: & \left[ \left( \left| \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1} \right|, \left| \prod_{k=1}^{2n+1} \sin \psi_k \right|, \dots, \cos \psi_{i-1} \right. \right. \\ & \times \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1}; - \left| \cos \psi_1 \right. \\ & \times \prod_{k=1}^{2n} \sin \psi_{k+1} \left|, - \left| \prod_{k=1}^{2n+1} \sin \psi_k \right|, \dots, - \cos \psi_{i-1} \right. \\ & \times \prod_{k=1}^{2n+1} \sin \psi_k, \dots, - \cos \psi_{2n+1} \left. \right) - \{p_i\} \times I \\ & \rightarrow \left[ \left( \left| \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1} \right|, \left| \prod_{k=1}^{2n+1} \sin \psi_k \right| \right. \right. \\ & \left. \left. , \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1}; - \left| \cos \psi_1 \right. \right. \right. \\ & \left. \left. \times \prod_{k=1}^{2n} \sin \psi_{k+1} \left|, - \left| \prod_{k=1}^{2n+1} \sin \psi_k \right|, \dots, - \cos \psi_{i-1} \right. \right. \\ & \left. \left. \times \prod_{k=i}^{2n+1} \sin \psi_k, \dots, - \cos \psi_{2n+1} \right) - \{p_i\} \right] \end{aligned} \quad (16)$$

with

$$\begin{aligned} \Phi_{\mathcal{F}}(m, t) = & \left[ \left( \left| \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1} \right|, \left| \prod_{k=1}^{2n+1} \sin \psi_k \right| \right. \right. \\ & \left. \left. , \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1}; \right. \right. \\ & \left. \left. - \left| \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1} \right|, - \left| \prod_{k=1}^{2n+1} \sin \psi_k \right| \right. \right. \\ & \left. \left. , \dots, - \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \right. \right. \end{aligned}$$

$$\begin{aligned} & \left. \left. - \cos \psi_{2n+1} \right) - \{p_i\} \right] (1-t) + t \left[ 0, 0, \right. \\ & \left. \cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k, \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \right. \\ & \left. \times \sin \psi_k, \dots, \cos \psi_{2n+1}; - 0, - 0, - \cos \psi_2 \right. \\ & \left. \times \prod_{k=3}^{2n+1} \sin \psi_k, \dots, - \cos \psi_{i-1} \right. \\ & \left. \times \prod_{k=i}^{2n+1} \sin \psi_k, - \cos \psi_{2n+1} \right] \end{aligned} \quad (17)$$

hence

$$\begin{aligned} \Phi_{\mathcal{F}}(m, 1) = & \left( 0, 0, \cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k, \dots, \cos \psi_{i-1} \right. \\ & \times \prod_{k=i}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1}; - 0, - 0, \\ & - \cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k, \dots, - \cos \psi_{i-1} \\ & \left. \times \prod_{k=i}^{2n+1} \sin \psi_k, \dots, - \cos \psi_{2n+1} \right) \end{aligned} \quad (18)$$

which leads to Theorem 2.

*Theorem 2.* The folding of  $cp^n$  (Equation 14) and any folding homeomorphic to that folding, have the same deformation retract of the complex projective space  $cp^n$  onto a geodesic  $cp^{n-1} \subset cp^n$ .

Let the folding be defined as follows

$$\mathcal{F}^*: cp^n \rightarrow cp^n$$

$$\begin{aligned} \mathcal{F}^*(x_1, x_2, \dots, x_i, x_{i+1}, \dots, x_{2n+2}; -x_1, -x_2, \dots, \\ -x_i, -x_{i+1}, \dots, -x_{2n+2}) = (x_1, x_2, \dots, |x_i|, \\ |x_{i+1}|, \dots, x_{2n+2}; -x_1, -x_2, \dots, -|x_i|, \\ -|x_{i+1}|, \dots, -x_{2n+2}) \end{aligned} \quad (19)$$

An isometric folding of  $cp^n - \{p_i\}$  into itself may be defined by

$$\begin{aligned} \mathcal{F}^*: & \left[ \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k \right. \right. \\ & \left. \left. , \dots, \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \cos \psi_i \prod_{k=i+1}^{2n+1} \sin \psi_k \right. \right. \\ & \left. \left. , \dots, \cos \psi_{2n+1}; - \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \dots, \right. \right. \\ & \left. \left. - \cos \psi_{2n+1} \right) - \{p_i\} \right] \rightarrow \left[ \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \right. \right. \\ & \left. \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \left| \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k \right|, \left| \cos \psi_i \right. \right. \\ & \left. \times \prod_{k=i+1}^{2n+1} \sin \psi_k \left|, \dots, \cos \psi_{2n+1}; - \cos \psi_1 \prod_{k=1}^{2n} \right. \right. \\ & \left. \left. \times \sin \psi_{k+1}, \dots, - \left| \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k \right|, - \left| \cos \psi_i \right. \right. \\ & \left. \left. \times \prod_{k=i+1}^{2n+1} \sin \psi_k \left|, \dots, - \cos \psi_{2n+1} \right) - \{p_i\} \right] \end{aligned} \quad (20)$$

The deformation retract of this type of folding of

$cp^n - \{p_i\}$  will be defined by

$$\begin{aligned} \Phi_{\mathcal{F}^*}: & \left[ \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k \right. \right. \\ & , \dots, \left. \left. \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \left| \cos \psi_i \prod_{k=i+1}^{2n+1} \sin \psi_k \right| \right. \right. \\ & , \dots, \cos \psi_{2n+1}; -\cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \dots, \\ & - \left| \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k \right|, - \left| \cos \psi_i \prod_{k=i+1}^{2n+1} \sin \psi_k \right| \\ & , \dots, -\cos \psi_{2n+1} \left. \right) - \{p_i\} \times I \rightarrow \left[ \left( \cos \psi_1 \right. \right. \\ & \times \prod_{k=1}^{2n} \sin \psi_{k+1}, \prod_{k=1}^{2n+1} \sin \psi_k, \dots, \left. \left. \cos \psi_{i-1} \prod_{k=i}^{2n+1} \right. \right. \\ & \times \sin \psi_k, \left. \left. \cos \psi_i \prod_{k=i+1}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+2}; \right. \right. \\ & \left. \left. -\cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \dots, -\cos \psi_{2n+2} \right) \right. \\ & \left. - \{p_i\} \right] \end{aligned} \quad (21)$$

with

$$\begin{aligned} \Phi_{\mathcal{F}^*}(m, t) = & \left[ \left( \cos \psi_1 \prod_{k=1}^{2n} \sin \psi_{k+1}, \dots, \left| \cos \psi_{i-1} \right. \right. \right. \\ & \times \prod_{k=i}^{2n+1} \sin \psi_k, \left. \left. \cos \psi_i \prod_{k=i+1}^{2n+1} \sin \psi_k \right| \right. \\ & , \dots, \cos \psi_{2n+1}; -, -, -\cos \psi_{2n+1} \left. \right) \\ & - \{p_i\} \left. \right] (1-t) + t \left( 0, 0, \cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k \right. \\ & , \dots, \left. \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k, \left| \cos \psi_i \right. \right. \\ & \times \prod_{k=i+1}^{2n+1} \sin \psi_k, \dots, \cos \psi_{2n+1}; \dots, \\ & \left. \left. -\cos \psi_{2n+1} \right) \right] \end{aligned} \quad (22)$$

$$\begin{aligned} \Phi_{\mathcal{F}^*}(m, 1) = & \left( 0, 0, \cos \psi_2 \prod_{k=3}^{2n+1} \sin \psi_k, \dots, \left| \cos \psi_{i-1} \right. \right. \\ & \times \prod_{k=i}^{2n+1} \sin \psi_k, \left. \left. \cos \psi_i \prod_{k=i+1}^{2n+1} \sin \psi_k \right| \right. \\ & , \dots, \cos \psi_{2n+1}; -0, -0, \dots, \\ & - \left| \cos \psi_{i-1} \prod_{k=i}^{2n+1} \sin \psi_k \right|, - \left| \cos \psi_i \right. \\ & \left. \prod_{k=i+1}^{2n+1} \sin \psi_k \right|, \dots, -\cos \psi_{2n+1} \left. \right) \end{aligned} \quad (23)$$

We reach Theorem 3.

*Theorem 3.* The deformation retract of the isometric folding of  $cp^n$  defined in Equation 19 and any folding homeomorphic to this type of folding is different from the deformation retract of  $cp^n$  onto a geodesic  $cp^{n-1} \subset p^n$ .

## References

1. AFWAT ABD EL-MEGID, M. EL-GHOUL and A. EL-AHMADY in "Second Conference on Operation Research and its Military Applications", Egypt, 17-19 November 1987.
2. F. BRICKELL and R. S. CLARK, "Differentiable manifolds" (Van Nostrand Reinhold, London, 1970).
3. M. EL-GHOUL and A. E. EL-AHMADY, in "Advances in modelling and analysis", Vol. 4 (A.MSER, France, 1993) pp. 49-58.
4. KENTARO YANO, "Differential geometry on complex and almost complex spaces", (Pergamon Press, New York 1964).
5. M. EL-GHOUL, PhD thesis, Tanta University, Egypt (1985).
6. R. L. BISHOP and R. J. CRITTENDEN, "Geometry of manifolds" (Academic Press, New York, 1964).
7. M. EL-GHOUL, "The Deformation retract of both covering space of hypertori and its topological folding", Pakistan Academy of Sciences, Constitution Avenue, Vol. 27, No. 2, Islamabad (1990).
8. *Idem.*, *Commun. Fac. Sci. Univ. Ankara* **A37** (1-4) (1988).
9. S. S. CHERN, "Studies in global geometry and analysis" (Prentice-Hall, New Jersey, 1956).
10. E. EL-KHOLY, PhD thesis, University of Southampton (1981).
11. S. A. ROBERTSON, *Proc. R. Soc. Edinburgh* **77** (1977) 275.
12. W. S. MASSEY, "Algebraic topology, an introduction" (Harcourt Brace and World, New York, 1967).

Received 28 April 1994

and accepted 21 February 1995